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Question Id : 34212315915 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension



The following table shows the number of people (in lakhs) living in five different cities A-E
along with the ratio of number of people in three different age groups I, IT and IIT among them.
People are classified in three age groups as Group-I: 0 to less than 21 years; Group- IT: 21 to less
than 41 years nd Group-IIl: 41 years and above. Based on the data in the table, answer the
questions that follow,

City- wise Number of People
Ratio of Number of people in Age-groups
City Number of people (in lakhs)
I -1
A 144 1232
B 16 r33
C 192 1713
D 128 3:1:4
E 12 gt 0 |

Sub questions

Question Number : 1 Question Id : 34212315916 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the ratio of the number of people of age group-I of city A and D together to the number
of people of age group-I of city C and E together?

56 53

2.1

Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212315917 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Number of people in age group Il of city D is % more than that of age group II of city
B.

1. 7%

t‘ilof
i

b

2
63%

el

4. 6%

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212315918 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The difference between the total number of people in age group II of city A and B together and
age group III of city C and E together is

1. 2 lakhs
2.1.2 lakhs
3. 2.4 lakhs

4. 0.8 lakhs

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212315919 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Number of people of age group I is more than 4 lakhs in exactly city/cities.

|. one
2. two
3. three

4. four
Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212315920 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For city C, if the number of people who will turn 21 years of age next year is 16000; the number
of new born will be 32000, and the number of people in age group III will remain the same, then
what will be the new ratio of people in different age groups?

1.31:31:60
2.31:32:60
3.31:32:36

4.21 :23:35
Options:
1.1
2.2
3.3
4.4

Question Id : 34212315915 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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A 114 1:3:1
B 16 2323
C 192 1-1:2
D 128 314
E 1 1:3:1

Sub questions

Question Number : 1 Question Id : 34212315916 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TEX A R D DI U T FAICThR 31 - a7l - 13 ] bl T T IR € 3R E ] e
311 o ) b ST Y ST fhiefi g 2

4.3:2
Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212315917 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. 6%
Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212315918 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

6 A 3 B e 317G o 11 b il o] e TGN T W0t ¢ R E 1 fcrep ofrg
111 S QI 1 o G b il bt iR g

1.2¢d9

3.24 19

4.0.8 ¢lig
Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212315919 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



I IHAM B YSIAG_ SR/ E H 4 dRa Y 3P 6
1. U
2.ql
3.dH
4. 9R

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212315920 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR € (o7, T el a4 2.1 T8 1 17 o i+ et vl bl TR 16000 8, il ol e
32000 BITH 4T 3T T 1 & AT bl T Gt 1 1t <o, fafvrer 3img ol b i bt
T ST 1 B 2

1.31:31:60
2.31 +32 260
330532056

4. 2122825
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2

Sub-Section Id : 342123625
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 34212315921 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following tool is used to create pre and post-session polls to gauge students learning
from each session?

1. Mentimeter
2. Github

3. Plotagon

4. Labster

Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 34212315921 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T U BT TN T el 2

| Hfewiey

2. filegd
3. T

4. cfefcX
Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212315922 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The style that involves a student's tendency to take more time to respond on the accuracy of
answers is known as:

1. Impulsive style
2. Surface style
3. Reflective style

4. Manipulative style

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212315922 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

w@fﬁmﬂﬁﬁwﬁﬁaﬂwmw&ﬁmﬁ%@mwﬁﬁwﬁ
gicl G, I N DI I § 2

1. 3D el
. Tefe! et
3, fele et
1. OGS el
Options :
1.1
2.2

3.3
4.4

Question Number : 8 Question Id : 34212315923 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



“If a student gets a part time job in an architect's office and applies what was learnt in geometry
class to help the architect analyze a spatial problem that is quite different from any problem the
student encountered in geometry class™ is an example of learning?

. Near transfer
2. Forward-reaching transfer
3. Low- road transfer

4, Far transfer
Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212315923 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. e 30

2. ST IR
3. Fg - sjo
4. QR

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212315924 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LIST1 LISTII
(ICT Tools) (Example)
A |Learning Management System (LMS)| L | Zoom
B. | Virtual Reality II. |Canvas
C. | Video Conferencing III. | Audacity
D. |Podcast IV. | Virbela

Choose the correct answer from the options given below:

1. A-1IV, B-1, C-II, D-1II

3

CA-L B-III, C-1IV, D-II

sl

. A-II, B-1IV, C-1, D-I11

4. A-IIL B-11, C-I, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212315924 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IV, B-1, C-II, D-III
2. A-1, B-III, C-1IV, D-11
3. AL B-1V, C-1, D-III

4. A-III, B-1I, C-1, D-1IV

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 34212315925 Question Type : MCQ Option Shuffling
Correct Marks : 2 Wrong Marks : 0

Which of the following is an example of positive-transfer of learning?
1. Mastering algebra helps in understanding calculus.
2. Learning to play piano makes it more difficult to learn the violin.
3. Knowing how to drive a car makes it harder to learn how to ride a bicycle.
4. Learning to speak French hinders learning Spanish.

Options :
1.1
2.2
3.3
4.4

:No



Question Number : 10 Question Id : 34212315925 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212315926 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A quantitative research would be mainly concerned with

. measurement
causality
context

. replication

Onwp

Choose the correct answer from the options given below:

1. A. B and C Only

[

. A, B and D Only
3.B, C and D Only

4. A. C and D Only

Options :
1.1
2.2
3.3
4.4



Question Number : 11 Question Id : 34212315926 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fedt aRATITES MY BT WIHR Td: FUfaRad I fe=d gime

A, HIUA
B. HRUMI
c. g4

D. Ufdpid
A [Su U f[ddedl § O §8T IR &l 999 DifoTu:
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[

" Hdd A, B3RD
3. Hdd B, C 3ARD
4. hdd A, C 3ARD

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212315927 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The criterion of ‘credibility” in qualitative research 1s equivalent to which of the following criteria
in quantitative research?

1. external validity
2. internal validity
3. objectivity

4. reliability

Options :
1.1
2.2



3.3
4.4

Question Number : 12 Question Id : 34212315927 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1, ST 4T
2. 3R deal
3. TR
4. oyt

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212315928 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify correct statements about content analysis.

A. The main vse of content analysis has been in the examination of printed texts and
documents.

B. Content analysis lacks transparency.
C. Coding is crucial in content analysis.
D. It is almost impossible to devise coding manuals that do not entail some interpretation on the

part of coders.
Choose the correct answer from the options given below:
I.A,Band C Only
2.B, Cand D Only

3.A, Cand D Only

4. A, Band D Only

Options :



1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212315928 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212315929 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The numerator and denominator degrees of freedom are used in which of the following test-
statistic in hypothesis testing?

L.t
2E

3.£

4, ;13 (chi square)

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212315929 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Yo eHIAD Wie H FgfaRad g Wie - TRl H 3 3R g A WeAdl @l dliedl
&1 I ol ST 2

L.t
2.F

3.

4, yF (chi square)

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212315930 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Sharpness of the peak of a statistical distribution is represented by

1. Kurtosis

(i)

. Skewness
3. Mean

4. Median
Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212315930 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fop i eI faer o e ol ceurel bt Fmferfed forep grT wefia fopar ot 2

1. debdl HIAT
2. dYH]
3. HY

4, AT

Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212315931 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A symbol that represents an idea or thought in non-verbal communication is referrred to as

1. Hidden symbol

2. Effective symbol
3. Abstract symbol
4. Ideational symbol

Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212315931 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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. T3d Udid
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Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212315932 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In any conventional media, the point of content production and the point of consumption involve

. Temporal separation

2. Imaginary hurdles

3. Free marketing

4. Technological over- dependence

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212315932 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. Blfcld GYanT
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Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212315933 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What do people basically want to extract from the communicated message?

1. Compulsions

2. Meaning

3. Synergy

4. Behavioural pattern

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212315933 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT YU Yo= 9 gela: 1 sy [HabTeHl drgd § 2
1. Sreard
3y

3. ggfhar
4. FdgRIH® UfdHH

Options:
1.1
2.2
3.3
4.4

[

Question Number : 19 Question Id : 34212315934 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Making way for technologies of automation is transformation of modern society

1. Cyber-nation
2. Mechanical

3. Political

4. Artificial
Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212315934 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 34212315935 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In the early stages of development, broadcast media were marked by

1. Positive communication

(i)

. Negative communication
3. One-way communication
4. Two-way communication

Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 34212315935 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212315936 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If a person travels in a car at a sped of 36 kimv/hour, then he will reach his destination on time. He

covers half the journey in (4/5 ) time. What should be his speed for the remaining part of the
journey so that he reaches his destination on time?

L. 80 knmv'hour
2. 75 km/hour
3. 90 km/hour
4. 85 km/hour

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212315936 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl IS e 36 Tl / 1 @1 11d U U SR U 6 Xl o, dll g (0 Tided WAy U
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1. 80 fobHt/ ¢
275 fobHlt/ ¢
3.90 fopelt/ ¢
4,85 fHl /¢

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212315937 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Let L and M be the sum and average of four consecutive odd mumbers (a, b. ¢ and d) respectively,

and, P and Q be the sum and average of three consecutive even numbers (x, y and z) respectively.
If M= Q-6 and P=L-16, then M=

1.32
2.34
3.36

4.30
Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212315937 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I b TR AT fa FI3M (a, b, ¢ 3R o) T AT R A AL L 3R Mg 7T i
SHRTC GH TS (x, v 3R z) BT A 3R R HA: P 3R Q B
Ti¢ M= Q-6 3R P=L-16, I M=

1.32

2.34
3.36

4.30

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212315938 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Three positive numbers are in the ratio 2 : 3 : 4. If the sum of their squares is 2349, then the
numbers respectively are

1. 14, 21 and 28
2. 18,27 and 36
3.16,24 and 32

4. 12,18 and 24

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212315938 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i ST ST 2+ 3+ 4 o ST H 1 e 3T vl b AT 2349 8, o SRETd 6 il

1. 14.21 3R 28
2.18,27 3R 36
3.16. 24 3R 32

412,18 3R 24

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212315939 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a certain coding scheme the word ‘SCHOLAR is coded as “TEKSQGY". In the same coding
scheme, the word *GREEN’ will be coded as

1. ITGGP
2. HTHIS
3.EPCGP
4, JUHHQ

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212315939 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o] o TS H *SCHOLAR WG 1 “TEKSQGY' & U H fied b1 T §1 381 e
TioT H, *GREEN” Y16 ! frg 0 | i i o 2

1. ITGGP
2. HTHIS
3. EPCGP
4, JUHHQ

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212315940 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In what time will a sum of money double itself at the rate of 12.5% per annum simple interest?

1. 10 years
2. 8 years
3. 6 years
4. 12 years

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212315940 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qIftch WL SIS B 12.5% Bl G Y Dlg SR oo T 1 g7IHI gl <o
L 109y

2.8y
3604
4. 127N

Options:
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212315941 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



*Abhay’s mind is a cave, deep, dark and full of bats." Which of the following is correct about the
above statement?

L. It contains analogical argument.
2. It is a valid and sound argument.
3. It contains analogy.

4, Tt 1s a valid but not a sound argument.

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212315941 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

34 T HT U 1T g, W T34, HbRAd 3R Taest ¥ wil ¢ Fafifad H e i
PYT T ¢ 2

L W WERUFIHI 3 Sfdfdp o
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Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212315942 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following terms in order of decreasing in intension?

A. Baseball player
B. Athlete

C. Fielder

D. Ball plavyer

Choose the correct answer from the options given below:

G, DADB

(o

B, B C

(5]

CA, DB

4.B,D, A, C

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212315942 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafaRad uel &1 ged 1o & »H ¥ SHaiyd Sifo 2

A. 94T Raare!
B. TYdiic
C. i
D. did - fgarat

I feu U 9 el § U T 3R &1 994 DIfSIU:

1.C,D,A, B

(]

B, DO

(5]

CA DB
4.B,D, A, C

Options :
1.1



2.2
3.3
4.4

Question Number : 28 Question Id : 34212315943 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I have read that one aspirin taken everyday reduces the risk of heart attack. Why not take two a
day and double the protection." Which informal fallacy is committed in the above statement?

. Fallacy of composition
2. Begging the question
3. Hasty generalisation

4. Slippery slope

Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212315943 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<A 1gT g o5 U U AT o Y GeuTerd & S &9 gl ol ¢ | 0 fer el aaf A of
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. Gefa ey
2. YT Y

3. AN TETIA

4. TOue gad e

Options :
1.1
2.2
3.3
4.4



Question Number : 29 Question Id : 34212315944 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent?

A. Some beverages are not liquids.

B. Some beverages are liquids.

C. Some non-liquids are not non-beverages.
D. Some beverages are non-liquids.

Choose the correct answer from the options given below:

1. Aand B Only

-2

.B. C and D Only
3. B and C Oaly

4. A, C and D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212315944 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fafafad 0 4 oF Y &yq difdd *U Y 9aded g 2

A P UTGI Tl g

B. P9 U4 Ed g

C. PO TR-GdTR - UGl ¢
D.$SUIIR-gd g

A fGu e fasel & 9 HgT IR D1 9G1 BT
|.had A 3R B

HddA B, C AR D

3.HAdB 3R C

4. Hdd A, C 3R D

Options :
1.1
2.2
3.3
4.4

(o

Question Number : 30 Question Id : 34212315945 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to classical Indian School of Logic (Nyaya) the statement “fire is cold because it is a
substance™ is fallacious because:

L. It has a non-inferentially contradicted middle term.

2. The middle term has an impossible locus.

3. The middle term instead of proving its presence in major term proves its absence.

4. The major term proves Its presence

Options :
1.1
2.2
3.3
4.4



Question Number : 30 Question Id : 34212315945 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R YT T o Tl () o 39R 98 Y - <341 Siclel ¢ alfeh U8 U Uy
AR

1. 30 T TR SIS 0 § areiiad 58 0 3

2, W9 UG ] U 3RUHd (19U 5|

3. 91 UG, 59 UE H 3901 UM g e o Toird S9! SFuieufd fig e g |
4. T UG, 98I UG H I oiJuiRifd fiig e & ool Tue! Jurefd g del g

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212315946 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In computer Networking, MAC addresses are unique to each device. Which of the following is
the meaning of the term MAC?

1. Medium Access Card
2. Media Address Command
3. Modem Addressing Card

4. Media Access Control

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212315946 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SR el H MAC TS Hlh SUSRY o (oL g (G1a) Bld €1 MAC s il
fFrgfeed & g i g o

| HifSar vy F1s
2, HifsT vgu wHis
3. HisH TSR 1S
4. Hifean vt dheldl

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212315947 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following “Digital India” themes is incorrectly matched with its purpose?
1. Spoken Tutorial- Learn various free and open-source software all by oneself
2. FOSSEE- Reduce dependency on proprietary software in Educational Institutions

3. e-Kalpa- Create Digital-learning environment for design

4. e-ShodhSindhi- Spread education in Embedded systems and Robotics

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212315947 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Frafefad & ° o 1 -fsfoied 2fsar 9 SR SHT Jaiei Afed 781 ¢ 2
1. Wi/ SICIRE - 1 TS 31T - G QIHedmR & aR H w2 Wl
2. FOSSEE - Qféfdh G131l # Wiifed dled Gieddy IR (1R & Hf Bl
3. 3. - [SHIEH o foru fSfored - aif aTdraRol 1 Yo & |
4.3 - YRR - Teis s (R U8 Xdifeay 1 e &1 4R & |

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 34212315948 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

With reference to ICT, which of the following statements is true?

. Global Positioning Systems (GPSs) in cars send signals to satellite which then work out
where they are and send this data back to the car.

2. HTTP stands for HyperText Transfer policy.
3. RAM stands for Rapid Access Menory.

4. Geographic Information System (GIS) is a computer based tool for mapping and analysing
things that exist and events that happen on earth.

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 34212315948 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1 PRI H T Tl QIO Rreed (Sidied) Suiel @ R Hefd ¢ &1 98 UdT oid &
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2. WA A 37 3 TR e TIamR Ui |
3. 39 (RAM) T 34 XUS TqY T B

4, ST SIS freer Yl IR WG <ol 3R e arell geref & TR 3R
fq2el9T & foft Uh DR SHIRT WM 3|

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212315949 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Based on the following, which of the following statements is true.
A CD contains 12 music tracks which are of lengths (in minute):
3,7,4,3,5,6,4,5,4,7, 8, 8 and each minute of music requires 12 MB of storage.

1. 512 MB of memory is used for the 12 music tracks.
2. | GB of memory is used for the 12 music tracks.
3. 768 MB of memory is used for the 12 music tracks.

4. If the tracks are to be stored in MP3 format, then each music track will be reduced in size by
90%. The storage that the 12 tracks would require is 69.12 MB.

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212315949 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 12 TfoT o o fe1U 512 MB W) 1 UG foodll o1l |
2. 12 TfoTeh ¢ o il | 6B HART T ST el el § |
3. 12 T 9 & fef 768 MB HART &I SN fooa ol g

4.7¢ ¢ Pl Mp3 BTFiC T WSING (RIR) o o1l gl e Wfoich ¢ T bR 90%
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Options :
1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 34212315950 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-1I with List-IT

LISTI LISTII
{Computer Components) {Description)
A JALU [. |Immediate access storage
B. | Control Unit II. |Carries out arithmetical and logical calculations
C. |Pen Drive III. | Directs the input and output flow in the CPU
D. | Main Memory IV. | Secondary/ offline storage

Choose the correct answer from the options given below:
1. A-II, B-TIL, C-IV, D-I
2. A-IL, B-1, C-1V, D-III
3. A-L, B-III, C-IV, D-II
4. A-IV, B-11II. C-I1, D-I

Options :
1.1



2.2
3.3
4.4

Question Number : 35 Question Id : 34212315950 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a1 91y & 11 B HTH Bl
A |uwayg I | <Y S U9 (ER)
B. [Ge@gie | I |si@viuniy iR aifh® u@ad sl o
c. (3= 11 |4dig H 399e AR 3M3eYC HaTe @ MiaRid &Xdl g |
D. |H9 89N V. |fadiae | 3iE a4 (@Ug) ©Rd

A1 4T U fdhedl # U gt IR &1 994 DI

1. A-IL, B-III, C-IV, D-I

[

. A-IL B-1, C-1IV, D-III
3. A-I, B-II, C-1IV, D-II

4. A-1V, B-1II, C-I1, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212315951 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



International Solar Alliance (ISA) is the alliance of countries, most of which lie.
1. Between North Pole ad Tropic of cancer
2. Between Tropic of Capricorn and South Pole

3. At equator
4. Between Tropic of cancer and Tropic of capricorn

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212315951 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SARIPTT GR Gl (SZTHY) U G BT 16eilS 3, o1 & sifdapi
1. JORl 4 91 b 31 o T YT ¢

2. T 3T d1 <f&uft 4d & Ay [Yd g |
3. YO 3@ R [ g
4. Hp 1 a1 PR 341 & 7 YT 8

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212315952 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Biomass

. 1s a carbon cycle neutral fuel

. has significantly higher calorific value then coal

. can be converted in solid, liquid and gaseous fuels
.can be converted into Producer Gas

. can not be obtained from energy crops

MmoOnwpe

Choose the correct answer from the options given below:

1. A. Band C Only

(o

. A, C and D Only
3. B.D and E Only
4. A, B and E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212315952 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SN

A. BT g% MRUS 38 B

B. Bl U HIHI 3iedh IWHY HH 4dl g

C. 319, d¥d 3R 19 59+ H ufvaldd foar ot Ul g
D. USSR 719 § uRafdd fdbar o 9&di g

E. 3ol BOdl U U Jel {1 S 9T |

i feu MU fadhedl © O gat 3R &l 994 SHifoie:
1.$dd A, B3R C

2. Hdd A, C 3R D
3. %9 B. D 3R E
4. HAdA. B3R E




Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212315953 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hydrochlorofluorocarbons (HCFCs), replacement for chlorofluorocarbons (CFCs), have to be
phased out completely by the year

1. 2025
2.2030
3.2035
4.2040

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212315953 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TARTKIRIBIH (HUH!) B! 68 98 7 g eldRITRIpIed (T 9 0 ) gRI i
e iR i T g 2

1.2025

2.2030
3.2035

4.2040
Options:
1.1
2.2
3.3



4.4

Question Number : 39 Question Id : 34212315954 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Softening of hard water is done by

A. Aeration

B. Boiling

C. Lime soda
D. Ozonation

E. Ion exchange

Choose the correct answer from the options given below:

1. A.Band C Only

(]

.B. C and E Only

(]

. B, C and D Only
4. C,D and E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212315954 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



HSIR ol Bl fhdd gRT Hg -1 SIdl g 2

A. didd

B. Y

C. T TR

D. TSI

E. 3199 &1 3AIGH - UGH

I feu MU 9 el & 9 FgT SR b1 T8 BHIfSIT:
l.hdd A. B3R C

$HId B, C IRE

. Hdd B, C 3R D

4. HddC.D AR E

Options :
1.1
2.2
3.3
4.4

[

(]

Question Number : 40 Question Id : 34212315955 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Due to over fertilization of lakes, quality of fish produced

1. does not change

b3

. Impaires

(el

. Impoves
4. first improves then impaires

Options :
1.1
2.2
3.3
4.4



Question Number : 40 Question Id : 34212315955 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2l & ifa3dSdu & SR, IATGd HSferd! &f I0raw -
A gIArg

o YR grar gl

4. H U GUR BT ¢ i g 8Idl &

Options :
1.1
2.2
3.3
4.4

—a

[

(el

Question Number : 41 Question Id : 34212315956 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The National Knowledge Commission suggested that the proposed national universities should
not have

. Affiliated colleges
2. Public funding
3. Linkage with industries

4. Teaching departments

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 34212315956 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T ST = e fe o o et gt gt oo A T g
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1. Yo WRTidelerd

). Graviid e
3. 31 U Wgagd]

4. T4 fam
Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212315957 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following was the principal of Bengal National College, established in 19067

1. Motilal Ghosh
2. Aurobindo Ghosh
3. Satish Chandra Mukharjee

4. Bipin Chandra Paul

Options:
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212315957 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. Hididrd 91y

2. 3RfdE T
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4. falUa g Urd

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 34212315958 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Most recommendations of the Calcutta University Commission were influened by

1. The Hunter Commission
2. Wood's Dispatch
3. The Haldane Commission

4. The Indian Universities Commission
Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 34212315958 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. o3 g
2. 48 H1fsTd
3. fgee 3T
4, Rt fasfdeera 3

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212315959 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following institutions were to play a role in shaping the National System of
Education at higher level under the National Education Policy (1986)?

A. UNESCO
B. UNDP
C.UGC

D. AICTE

E. ICAR

Choose the correct answer from the options given below:

I.A.Band C Only
2.B, Cand D Only
3.A,Cand DOnly

4.C,Dand E Only

Options :
1.1
2.2
3.3
4.4



Question Number : 44 Question Id : 34212315959 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fefcifa 9 fobe TRl IR S SR R 19T R 1t 1986) o afvic g e bl
s e T el o

A,

B.J U Sl U
c.gs gl
D.UMR YA
E 3B U U3R

i feu e faedl § ¥ wpt IR BT DI
|, HadA, B IR C

). HqB,C IRD
3. BadA, C IR D
4. $4dC.DIARE

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212315960 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The education imparted at Nalanda University was both religious and

1. Irreligious

-2

. Entertaining
3. Secular

4. Business- oriented
Options :
1.1
2.2



3.3
4.4

Question Number : 45 Question Id : 34212315960 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

icial fayfdeed J ved e 4 3R & PR & Al
. 3feTTHEG

2. HARS®
3. Uy fFRUg
4. ARG

Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 3
Sub-Section Id : 342123626
Question Shuffling Allowed : No

Question Id : 34212315961 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension



Ethical living is concerned primarily with the interpersonal dimension of our behavior. How do
we treat one another individvally and in groups---and increasingly, other species and the
environment? The key here is that morality brings us info contact with others and asks us to
consider the quality of that contact. We start asking ourselves: ‘Is that the way I should treat
someone else?” ‘Ts that the way someone else should treat me?” Because we have the ability to be
critical of our interpersonal behavior and our interaction with animals, we have the ability to
develop codes and norms to guide that behavior and interaction. Those moral norms and codes, in
addition to a set of virtuous character traits, are what we mean when we talk about ethics.

Ethics poses questions about how we ought to act in relationships and how we should live with
one another. Ethics asks us to consider whether our actions are right or wrong. It also asks us how
those character traits that help humans flourish (such as integrity, honest, faithfulness and
compassion) play out in everyday living. Ethical norms and principles have developed over time
and across cultures, as rational people of goodwill consider human relationships and how human
beings act when they are at their best.

This everyday ethical reflection must occur before we can effectively confront the larger moral
questions. A person who wants to take moral leadership in global issues must take special
responsibility for what is going on inside his or her own self—inside his or her own
consciousness—lest the act of leadership create more harm than good. All of us can be leaders for
good; the choice Is ours.

Sub questions

Question Number : 46 Question Id : 34212315962 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ethical living is based on

our own virtuous attributes

our behaviour towards other species
our behaviour towards environment
. material satisfaction

O0wp

Choose the correct answer from the options given below:

1. B and C Only

[

. A and B Only
3. A.Band C Only

4. A,B,Cand D

Options :
1.1
2.2



3.3
4.4

Question Number : 47 Question Id : 34212315963 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Identify the virtuous character traits which help an individual to flourish in life.
A. Integrity
B. Psychophancy
C. Honesty

D. Compassion
E. Faithfulness

Choose the correct answer from the options given below:
1. A, B, Cand D Only
2. A, Cand D Only
3.A,B,CDandE
4. A, C,D and E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212315964 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statement is incorrect?
1. Culture is static
2. All cultures have developed their ethical norms and principles over time
3. Rational people of goodwill exist in all cultures
4. Culture is dynamic

Options :
1.1



2.2
3.3
4.4

Question Number : 49 Question Id : 34212315965 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For a good leader it is imperative to have

. resources

[

. daily reflections on his conduct
3. higher educational background
4. belief in spirituality

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212315966 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quality of our interactions in human relationships is gauged by

1. economic status

o]

. soclal status

e

. Interpersonal behaviour
4. educational background

Options :
1.1
2.2
3.3
4.4

Question Id : 34212315961 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix



Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 34212315962 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A fGu e fasel & 9 HgT IR D1 9G1 BT
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2. Hdd A 3R B
3. HITA. B3R C

4.A.B.C3RD

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212315963 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. AB.CDIRE

4. $A0A. C.DIRE

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212315964 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3




4.4

Question Number : 49 Question Id : 34212315965 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 50 Question Id : 34212315966 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

O1d et © gORT 3a1-afdar 1 Tura HEfeiad & gRI a1 Sl ¢ -
1. e fRufd

2, T feyfd

4. Qe gFYH

Options :
1.1
2.2
3.3
4.4

Library and Information Science



Section Id :

Section Number :
Section type:
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 51 Question Id : 34212315967 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Who coined the term “Infoshere™?

—a

. Delphi

(i)

. Likert

(el

. Luciano Floridi
4. Brophy

Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 34212315967 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

FPHIRER et Ty &g
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2

Online
Mandatory
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92

200

0

1
342123627
Yes



Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212315968 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The word “Data™ was originated from word.

. Greek

[

. Latin

[

. Spanish

4. Persian
Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212315968 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<l Teg DI 3G oG 9 g3T|
1. JiP

dfeq
3. WY
4. HRA!

Options :
1.1
2.2
3.3
4.4

[



Question Number : 53 Question Id : 34212315969 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Belkin is associated with

—

. Cataloguing

[

. Classification

(]

. Documentation
4. Information theory

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 34212315969 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

—

[

Question Number : 54 Question Id : 34212315970 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who coined the term “Invisible college™?

1. B.C. Brooks

(i)

. Peter Drucker
3. J.H. Shera

4. Diana Crane
Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212315970 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Sl It g9
Ul g
3. 9. U9, IR0
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Options :
1.1
2.2
3.3
4.4

[

[

Question Number : 55 Question Id : 34212315971 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is an implication of the first law of library science

1. Compact shelving

2. Library extension service

3. Location of the library

4. Implementation of library act

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212315971 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

(g

Question Number : 56 Question Id : 34212315972 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The first library act was enacted by

1. Congress of the United States

(i)

. British Parliament

(el

. Germany Parliament
4. Russian Governing Council

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212315972 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. ol Ue
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Options :
1.1
2.2
3.3
4.4

(g

Question Number : 57 Question Id : 34212315973 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Library pilgrimages are an example of

1. Saraswati Pooja during Navaratri

(i)

. Adult education program
3. Library cooperation
4. Library extension service

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212315973 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212315974 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The first ever library school in the world was started by

. Charles Ammi Cutter

(i)

. A.D. Dickinson

(el

. Melvil Dewey

4. James Kaiser
Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212315974 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fay 7 Ugelt SR qRddbiery RI& -5 Fafaiad § U fdwd grr Ry fdarmr ue
1. dIcd THI hex
2. T 3 fSid-g
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4, A T

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212315975 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is an analytical information source?

1. Dictionary

(i)

. Almanac

(el

. Directory
4. Monograph

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212315975 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

[

Question Number : 60 Question Id : 34212315976 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is a neo conventional source of information?

1. Atlas
2. Patent
3. Audio-visual

4. Microform
Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212315976 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

(el

Question Number : 61 Question Id : 34212315977 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘Readers Digest’ is an example for

1. Scholarly journal

(i)

. Trade journal

(el

. Popular/General interest periodical

4. Current source of information
Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212315977 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 62 Question Id : 34212315978 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who is the author of *Basic Reference Sources™?

1. S.R. Ranganathan

(i)

. Louis Shores
3. Dennis Grogan
4. Margaret Hutchins

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 34212315978 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. ARYUC gl

Options :
1.1
2.2
3.3
4.4
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Question Number : 63 Question Id : 34212315979 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The term ‘Reprography’ was first introduced in

|. India

(i)

Ttaly

(el

. Turkey
4. Germany

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212315979 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

(g

Question Number : 64 Question Id : 34212315980 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Webcasting is an example of

1. Internet Technology

(i)

. Web Technology

(el

. Push Technology
4. Communication Technology

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212315980 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 65 Question Id : 34212315981 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



CERL stands for

1. Consortium of European Research Libraries

(i)

. Community for European Research Libraries

(el

. Consortium for East Asia Research Libraries

4. Collection of European Research Libraries

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212315981 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 66 Question Id : 34212315982 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A single schedule that lists all of the simple and compound subjects together with their ready-
made class number is called

. Faceted Classification
2. Analytico Synthetic Classification
3. Knowledge Classification

4. Enumerative Classification

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212315982 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2

3.3
4.4

Question Number : 67 Question Id : 34212315983 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Each surviving term of an Expressive Title is denoted by:

1. Supportive Term

o]

. Apparatus Term

Lad

. Kernel Term

4. Fanciful Term
Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212315983 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212315984 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is not a limitation of chain indexing?
1. Chain indexing depends only on class number
2. Only last link is specific

3. False or Unsought link

4. Tt provides alternative approach to the classified file through reverse rendering

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212315984 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212315985 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A cyclic recurrence of fundamental categories in the facet analysis of a subject is called:

1. Levels
2. Rounds
3. Devices

4. Isolates
Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212315985 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. [qRIN® (3MZYIeY)

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212315986 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is a Social Networking Service primarily used for non-social inter-
personal communication?

1. Instagram
2. Reddit
3. Linkedin

4, Twitter/ X

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212315986 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. felage

Options:
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212315987 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If all the non critical activities start as early as possible, the spare time 1s the

1. Latest Finishing Time
2. Free Float

3. Total Float

4, Independent Float

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212315987 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212315988 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is not a principle of library expenditure?

1. Principle of Economy

(i)

. Principle of Maximum aggregate benefit

(el

. Principle of Advance Planning
4. Principle of Demand and Supply

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212315988 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

[

Question Number : 73 Question Id : 34212315989 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



An estimate of loss of a few stacks of a library that is made on the basis of thorough checking is
known as

I. Stock taking by shelf register
2. Sample stock-verification
3. Stock taking by master record

4, Stock taking by Duplicate set of Book cards

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212315989 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212315990 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In of job evaluation actual incident relevant to the work situation are taken into account and
each employee is made to answer each incident to his supervisor.

. Informal Plan Method
2. Self Rating Method
3. Mutual Rating Method

4, Critical Plan Method

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212315990 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212315991 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following data collection tool is concerned with broad underlying feelings of
individual's life experience?

1. Focused Interview
2. Non- directive Interview
3. Clinical Interview

4. Telephonic Interview

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212315991 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212315992 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The statistical test used to investigate the differences among the means of all the populations
simultaneously is

L. T-test
2. ANOVA
3. Correlation analysis

4. Chi-square test

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212315992 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212315993 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The preliminary part of the research report may not include:

1. Table of Contents

(i)

. List of tables

(el

. Preface
4. Importance of the problem under investigation

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212315993 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212315994 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Probability distribution of all the possible means of random samples of a given sample size refers
to:

1. Sampling distribution of mean
2. Distribution of sample
3. Distribution of population

4. Probability distribution of sample

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212315994 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212315995 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



| (one) nibble equals to how many bits?

1.6

I_:‘J
o=

4,2
Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212315995 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212315996 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A bidirectional wireless system that transmits data via LED or infrared light is
1. Wi-Fi
2. Li-fi
3. Mobile communication

4. V-SAT
Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212315996 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212315997 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is a computer program used to search website content and index, over the
internet?

1. Search Engine
2. Web Browser
3. Web Crawler

4. Meta Search Engine

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212315997 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212315998 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tags in eXtensible Markup Language are case sensitive because

1. these tags are fixed by the W3C

(i)

. these tags are pre defined
3. these tags are standardized already
4. these tags are user defined

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212315998 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 34212315999 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In early 1980s, the UCG established National Information Centres and Inter-University Centers
to render reference and documentation services for promoting research in existing
Institutes/Universities. Which of the following Universities had got inter-university centre?

. Indian Institute of Science, Bangalore

2. Maharaja Sayajirao University, Baroda
3. SNDT Women's University, Bombay

4, Jawaharlal Nehru University, New Delhi

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 34212315999 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212316000 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who was not a member of UCG panel on Library and Information Science for the Curriculum
Development Committee 2001 headed by Prof. C.R.Karisiddappa

1. Prof Harsha Parekh, SNDT Women's University
2. Prot T Vishwanathan, INSDOC
3. Prof P S G Kumar, RTM Nagpur University

4, Prof MK R Naidu, M S University

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212316000 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212316001 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In which year, Delhi Public Library had introduced the mobile service for readers?

1.1951 AD

1]

1953 AD
3.1972 AD

4. 1996 AD
Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212316001 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 1951 AD

I3

. 1953 AD
3. 1972 AD

4. 1996 AD

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212316002 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is not a digital library initiative

1. Google Books Library Project

(i)

. Digital Library Federation (DLF)

(el

. Web Library Project
4. Million Book Project

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212316002 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 87 Question Id : 34212316003 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the technology drives are not part of SMAC system?

l. Social Media

(i)

. Mobile Computing

(el

. Data Analytics

4. CMS
Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212316003 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212316004 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the full form of RoMEO in Sherpa RoMEO?

1. Record of Master file for Open Archiving

(i)

. Rights of Master MEtadata file for Open Archiving

(el

. Record MEtadata for Open Archiving
4. Rights MEtadata for Open Archiving

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212316004 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

JRUT AT H AT (SR STHS 317) DT YR A1 -7 82
1. RIS 3B AR BIgd BR AU ARBI5IAT

RPIS ACTSTI BR 3T ARSI

4.2y HeTsel BR U ARPIgId

Options :
1.1
2.2
3.3
4.4

(g

(s

Question Number : 89 Question Id : 34212316005 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Laney described the characteristics of as data that cannot be processed by traditional
data management tools.

. Geospatial Data
2. Linked Data
3. Qualitative Data

4, Big Data

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212316005 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ﬂ?ﬁ? ! fIvaT 9  fo 3 TRURS St ie o 3 TR e fr o
TS

1. forafrgfege S
2. felag Ser

3. Pifeicfed sei

4 faga

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212316006 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SHERNI of Information and Library Network is the expert profile network system that

1. Connects the knowledge, skills and expertise of women across the field of Science,
Humanities, Engineering only

2. Connects the knowledge, skills and expertise of women across the field of Library and
Information Science only

3. Connects the knowledge, skills and expertise of women across the various field of studies
only

4. Connects the knowledge, skills and expertise of women across the Social Science and
Engineering only
Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212316006 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ﬁmmm@ﬁmﬂmmmwwwmm%
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3. et (e o A &t | igeiolt & i, BIe SR [2vgar 3l e ¢
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Options :
1.1
2.2
3.3
4.4



Question Number : 91 Question Id : 34212316007 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sequence the following Act enacted by the Government of India logically from the date of their
first enactment.

A. The Geographical Indications of Goods (Registration and Protection) Act.
B. The Patents Act

C. The Designs Act

D. The Trade and Merchandise Act

Choose the correct answer from the options given below:
I.A,B,C,D
2.B,C,D,A
3.D,B.AC
4.C,D,AB

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 34212316007 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YR ROR RI eFafid FHafiad s o 3 yum ST o il &
3TYR AR P

A. ST SIS 3 TS (RFoRCTH T8 UiddeH) siufad

B. Uy 3ff¥fag

c. Tgag-g fffan
D. 03 U8 Hdaedl ey

4 U e fadhed! 7 € Wl IR &1 9 DI
1.A,B,C,D
2.B,C,D,A
3.D.B.AC

4.C,D,A,B

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212316008 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In what sequence one should consult the following information sources to understand about
‘Referral Service” with its increasing extension and intention.

A. Library Science with a Slant to Documentation

B. Reference Service by S.R Ranganathan

C. Harrod's Librarian's Glossary and Reference Book
D. Encyclopedia of Library and Information Science

Choose the correct answer from the options given below:
1.A,B,C,D
2.B,C,D,A
3.C.D,BA
4.D,A,B,C

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212316008 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



G THR Y Y1 HId Bl Y3 Tl & YR R 96 UINR U4 ST dH g
GIGIRIREAR

A, TSR 19 fay of i ¢ SiaqHca
B. XY Ty 979 U 3R VI
D. SIS 3 digsn] U8 ShIHHTH J5d

4 U e fadhed! 7 € Wl IR &1 9 DI
1.A,B,C,D
2.B,C,D,A
3.C.D.B.A

4.D,A B,C

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212316009 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following steps of information literacy scope and sequence model in the logical
sequence of their operation.

A. Find

B. Assess
C. Create
D. Question
E. Gather

Choose the correct answer from the options given below:
I.A,B.D,C,E
2.DAEC.B
3.DECAB

4.B,A,D,C,E

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212316009 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e IR 1T 3R 3o HiSel & Fafeiad 9Rul bl 31 YaleH o ol v |
AT Y

A T DT

B. U @M
c. AT &
D.TY

E. GG Xl

A f6u U fadhedl § U e IR Bl 99 Difore:
l:4: B, DC.E
2Z2DAECB
3.D,E,C.AB
4B.ADCE

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212316010 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following Year Books and Directories in ascending order from oldest to latest of their
first publication.

A. Europa World Yearbook

B. Demographic Yearbook

C. World of Learning

D. Commonwealth Universities Yearbook

Choose the correct answer from the options given below:
.A,B,C,D
2D.C.B;A
3.B.C,AD
4.A,D,C,B

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212316010 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[FafeRad aitie! SR FERI@I Bl 3 T4H Tb1aH Y WA U FdiaH I b dgd
g0 gl 1 H oHafeud B

A. TR 6 TRYD
B. SHITIh® STRYD
C. 9t B di

D. BT JaRIcTH gD

i feU e faehed! o O Wt IR &1 0 difoie:
1. A, B.CD
2.D,C,B,A
3.B.C.AD

4.A,D,C,B

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212316011 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Information communication process can be classified broadly into following four categories in
terms of its level. Arrange them in decreasing level of involvement of number of people in the
process.

A. Interpersonal Communication
B. Intra personal Communication
C. Group Communication

D. Mass Communication

Choose the correct answer from the options given below:
I.A,B,C,D
2.B,C,A.D
1.D.C.AB

4.B,A,C,D

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212316011 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Y R (e o 9R YT H e 77 ) cufoRad 1 U & YR W G B S-dice
& YR R U DRU:

A, ST TR
B. 321 (e ¥R

C. 99 ¥R
D. 9 YR

i feU T faeved! o O g IR &1 9 B
1. A.B,C,.D
2.B,C,A,D
3.D,C,AB

4.B,A,C,D

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212316012 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



With specific reference to the establishment year, arrange the following consortium in ascending
order.

A. INDEST

B.FORSA

C. National Knowledge Research Consortium (NKRC)
D. NGC- DAE Consortium

Choose the correct answer from the options given below:
I.A,B,C,D
2.B,C,D,A
3.B,D.AC
4.D,B,A C

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212316012 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A MRS ST
B. UG 3RUGY
C. e Hiclel N SiegH (T & 3R )

D. Uil S105 dhgiieaH

A fGU U fadedl § U T TR &1 989 DI
l-ABED
2.B.C.D,A

3.B.D,AC

4.D,B,A,C

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212316013 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the steps used in POPSI in the logical sequence.

A. Content Analysis

B. Alphabetisation

C. Modulation

D. Preparation of entries
E. Formalisation

Choose the correct answer from the options given below:

LA ECDHB

(]

B DG B

(]

By A I E
4. A,B,C,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212316013 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



U1 3N Ty 311 H IYGIT fhU SH ard @Rull &I g1 hH H HaiRyd &

A. 3fad¥g faeyo

B. GUIHHT

C. gfdequr

D. Ufafyl &1 duri

E. IR (BIHAISSIIH)

Hd feu U fadedl | I Gl IR &1 98- Hifort:
l.A.E.C,D,B
2.E,A.D.C,B
3.B,A.D.C.E
4.A,B,C,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212316014 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



“Treatment for cancer in India” arrange the concepts of this title using facet sequence formula of
Dr. S.R Ranganathan

A. Treatment
B. Medicine
C. India

D. Disease
E. Cancer

Choose the correct answer from the options given below:

LLABIDLEC
2.D.AE,C,B
3.EC.D.B.A

4.B,D,E A, C

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212316014 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



HRAH SR BT ITIR 0 Wi bl T R 19T 70 0% oA T T ST ¢l U
IR Y

A. JUdR
B, 3ITY
C. HRd
D. M

E. &

id feu U faded! A 4 gl I 3l 901 HIE:

.A,B,D,E.C
DA B LB
3.ECD.BA
4.B,D,E,A,C

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212316015 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the steps of performance appraisal in proper sequence.

A. Performance improvement planning

B. Compensation and rewarding good performance
C. Performance feedback and evaluation

D. Potential appraisal

E. Performance reviewing or progress review

Choose the correct answer from the options given below:

Lo, By BB

(]

B ByDeA

5]

D, CARBE
4.B,. C.A,D.E

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212316015 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fSITe ged A2 Uur & 9RUll &1 UEl v H U A9y d $H

A. g1 9UR g

B. 3w FsIred W gfagfd &R oiivdifte
C. (e Bisd® 3R gedidh

D. YHIfad HAidh

E. f-ISaTe THTE a1 TeTid e

A fau ¢ fadheti T 9 9l SR &1 9949 DIfST:

1.4, B, D, C,E

[

BEE€BDA

(]

D, C.ABE
4:B, C. A D E

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212316016 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the steps of PERT/CPM in chronological order.

A. Determine the earliest and latest feasible event times

B. Identify the precedence relationships among the activities

C. Identify activities required by the project

D. Determine the expected time requirement for each activity

E. Develop a network diagram of activities and events or nodes showing precedence
relationships

1E B, D AC
2.C,B,D.E,A
3.B,CEDA

4. D,AEB,C



Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212316016 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

0 E R/ G0 T & RN Dl DIAHHD TU H T Y

A. 99U U 3R G4 a4 agr g 9 &l R 31

B. BB & did Gddl Yool 1 TgdH ol

C. URAISHT & {0 31axud SR & UgdH el

D. Ylid SIS & AU M1a9ae YeTiid 9HY & (R

E. Jddl ¥dY G2Mid §U, drideul 3R ge1si 91 gy & Jedd ST & fahrd

14 feU U fqaedl § U U5l IR &1 904 DI

ILE,B.D,AC
2CR.BDEA
3.B,C,E,D,A

4.D,AE,B,C

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212316017 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following Web browsers based on their year of invention

A. Netscape Navigator
B. Mozilla Firefox

C. Mosaic

D. Google Chrome

Choose the correct answer from the options given below:

1. C.a: B, D

[-2

AL B BT

L

B, A, C,D

4.A,B,C,D
Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212316017 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FGiIRad 99 S8 &I 3d HASHR & Iy & HH H AT B

A. HEEHY AR
B. HIfSTel IR
C. AlIg®H

D. TFTd 11

i3 feu e faedt # 9 UEl SR &1 94 S

1.C,A,B,D

I3

e BiLIC
3. B, AE,.D

4.A,B,C,D

Options :



1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212316018 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the layers of Semantic Web Architecture in proper sequence from lower to higher

A RIF and SWRL

B. UNICODE and URI
C.OWL

D. XML

E.RDF

Choose the correct answer from the options given below:
.C,B,ADE
2.A,D,B,E,C
3B, DE LA
4.D,B,AE.C

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212316018 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



UiHfed dd 3flfhdaer &1 URdl &I 3fad e H R B

41 fau U fam el © T 9el IR &I 99 HIfSIT:
1.C,B,A,D,E
2 ADBE.C
3.B,D.E.C,A

4.D,B,AE,C

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34212316019 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the sample size of population (N=100) according to degree of accuracy with 0.03, 0.033,
0.025, 0.01 and 0.00 respectively.

A. 80
B. %
C. 89
D. 100
E. 98

Choose the correct answer from the options given below:

.B.D,EAC
2.D,B,A,C.E
3.CAEB.D

4 A CRBED

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34212316019 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SFTGEAT (T 100) 1 T G2 I A 0,05, 0.35. 0.025, 0.01 X 0.00 TTehell 401t &
HGR aRUd B

A. 80
B. %
C. 89
D. 100
B 94

i fu T fadhed! 9§ 9l S &1 95 ST
1.B,D.E,A,C
2D.B.ACE
3CAEBD

44 CHBED

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212316020 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the typical sections of a research paper in logical order

A. Brief summary

B. Statistical analysis

C. Areas for future research
D. Research procedure

E. Objective of the study

1 E B B A
2 CABED
A B DB C

4.B,C,A,D,E



Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212316020 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U Y U & UreiUdh Wal &l Yol HH H Haeud &

A, GlEg IR

B. GRS fa=Reiyuy
c. YA B AWMy & &7
D. TN Uik

E. A0 & 320

- feu e fadedl § 9 9l 3R &1 99 DI

1 B, B 1A
2 C.ABED
A E DR C

4:B, C. A D E

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212316021 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The following have major initiatives in enhancing education and academic library system in
India. Arrange them in reverse chronological order of their foundation

A. All India Council for Technical Education (AICTE)

B. National Council of Educational Research and Training (NCERT)

C. National Institute of Educational Planning and Administration (NIEPA)
D. State Council of Educational Research and Training (SCERT Delhi)

E. University Grants Commission (UGC)

Choose the correct answer from the options given below:
1A B:C.DE
2.D,C,B;E.A
3:AE,B.C.D

4.D,B,A,C,E

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212316021 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



HRT ¥ R8T 3R ST QT o & ot FHafciad W Yadd ¢, 36 311 I
& b HICHHAFYR e/ &

A, YRET R da-To1 et TRwe (TemsHies)

B. TV Qifors 31t <R ey uRwg (Tiigome)
C. T e T iR TR TR (TSR
D. o Q0T SFHH 3R T4 Uy (CHEigeRa)
E. faylaaTery SHEM S (o)

i feu U fodhedl 1 § U I 61 95 BifT:
l:8: B.C: D, E
2.D.C.B.E.A
JAEBCD
4.D,B.A,C.E

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212316022 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are true of Information

A. Information is a property of data

B. Product of human brain

C. Information may be abstract or concrete
D. Information can not be creative

E. Information is personal knowledge

Choose the correct answer from the options given below:

1. B, C and D only

(o

.A. B and C only
3. A, Cand D only
4. B, C and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212316022 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



99 O O g1 & Gy § /1 9d g2

A. Yo Sl & fa=IvdI 2|

B. ™ AR &1 3dIq

C. Yo U ae T hihic gl Yl o
D. Y fohaifed 7 gl uabdi|

E. - UEd I g |

A fau ¢ fadheti T 9 9l SR &1 9949 DIfST:
1.$hdd B, C 3R D

2. HAd A.B 3R C
3. $dd A, C 3R D
4. $HadB.C 3R E

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212316023 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are described as penalty for researchers in UGC (Promotion of Academic
Integrity and Prevention of Plagiarism in Higher Educational Institutions) Regulations 2018 .

A. Researchers shall be asked to submit a revised script

B. Researchers be asked to pay a penalty of Rs.5000/-

C. Researchers shall be debarred from submitting a revised script

D. Researchers registration for the research degree shall be cancelled

E. After there unsatisfactory plagiarism reports bailable arrest warrant will be issued.

Choose the correct answer from the options given below:

I. A, Band Conly
2. A, CandE only
3.A.Cand D only

4.B,CandE only

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212316023 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ottt 2018 TSI BR WIReH & SFTAR Meiebaiaf b 1 Ul sardt T ¢

A, Tl Pl TR [P ol 63 &l g ¢

B. T4 di Bl 5000 ¥4 Bl UATee] SHI B Bl Bgd ¢

C. 4ol DI TR [pP ST 3 Pl (8 {1 ST & |

D. Yol &1 R f33i 1 Aore e Hibd fbar T g

E. I SIS ©RGH RUTE & a16 Sl SR dRe ORI il ol g |

i U TC fadetll # 9 g1 IR &1 70 Hifvit:
1. had A, B AR C
2. $ad A, CIRE
3.5 A, CHRD
4,990 B, C 3NE

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212316024 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are true of Nalanda University.

A. Nalanda University was established in 4t century B.C.
B. Area of library was called Dharma Ganja
C. Library was housed in three grand buildings

D. The buildings were named as Ratna-Sagar, Ratna Pithika and Ratna Ranjaka
E. Ratna Ranjaka was a nine storied building

Choose the correct answer from the options given below:

1.A.Cand D only
2.B. Cand D only
3.A,Band E only

4.B.Cand E only

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212316024 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A. ATcicT fayfaererd &1 R0 $91 gd diil qrdrsdl H g3 |

B. Q&IDIcd & &3 DI 4H TS gl STl ATl

C. T fa=irel Ya-i | qrddbierd §+1s s 1|

D. Ya-1 BT A Id IR, ¥d UiTd T 3R Id Ioidh 361 741 A |
E. 3d oI Al HiSd &1 Had ol

- fqu T fdsh el # T Tl IR DI 94 DIT:
1.Pdd A, C 3R D
2. HdA B, C 3R D
3. Hdd A, B 3RE
4. HIAB, C 3R E

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34212316025 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are true of Librarianship as a profession

A. Needs a specialized knowledge

B. Requires set of principles of professional ethics

C. Information work is distinct from librarianship says Farradane

D. Mainly an activity involving service against fee or fees

E. The term information specialist does not include library professional

Choose the correct answer from the options given below:

1. A, Band C only
2. B, C and D only
3.C.D and E only
4. B, D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34212316025 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Udh HGUY & ¥U H gk & aR § Fgfeiad § 8 $1HY 9d ¢

A. FafTs 1 91 siaadal gl ¢

B. AGHITD] SR Higdl & (<l & g BT Haeaddl gl ¢ |

C. BRI BT AHHT § T a1 o g skig-Rg 9 i g

D. O Y U UH by § oG ekl ob dal 41 ekl el GiAferd 3|
E. Yo {21yl Wsg 1 QRdoblerd qgrd] ity g1 §

Hid fou U fadedl H O T2 IR &1 994 BT
. Hdd A, BIRC
2. HIAB, C HRD
3. 940 C, D 3RE
4. BB, D R E

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212316026 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following hold good with databases

A. CAS Registry Is a factual data base
B. CAS react is a bibliographic data base
C. PubMed is a tull text data base

D. ERIC is a numeric data base

E. SCOPUS is a citation database

Choose the correct answer from the options given below:

1. B, C and D only

(o

. A, CandE only
3.C.D and E only
4. A, B and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212316026 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frafciRad # 9 BI4r ScTe¥ & 91y Hel ©

A. Uy ST U d2RE ST a9 gl
B. UIUTY RUae Uh YR ST B
C. J9HS U Juf ¢y Sl g

D. SRS Uh Y=ATHSD ol ol

E. THHTURUY U R0 ST a9 g

A fau ¢ fadheti T 9 9l SR &1 9949 DIfST:
1.$hdd B, C 3R D

2. HAd A, C 3R E
3. Had C.D 3R E
4. Had A.B 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212316027 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are true of institutional source of information?

A. No exclusive referral centre has been operating in India
B. Clearing house cannot be considered as an institutional source of information

C. A major part of information needed by social science researcher can be provided by
institutional source

D. A significant number of journals are published by learned societies
E. Institutional sources may also be called as informal sources

Choose the most appropriate answer from the options given below:

. A, DandE only
2.B,C and D only
3.C.Dand E only

4. A, Cand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212316027 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



a1 & R Fi & IR H e # Y pe 9 ¢

A HRT H D13 3 FEIR® Ul g Telfed el ¢

B. {01 &5, 1 o1 & YR Tl o ¥ | g A1 o abell g

c.ﬂ]ﬂﬁ;ﬁﬁﬁ&ﬁ%ﬁﬁﬁﬂéﬂﬂﬁ@%ﬁ@ﬁ@ﬁﬁﬁﬂ%ﬂ
il

D. Siall B! AUl S fdgdol GRIRIes gRT Udiid &1 oiidl ¢ |

E. SR/ Tidl 1 31T Gid i 6gl o Gebell g1

A fog e famedt # 9 Wet IR &1 99 i
1. $4Gd A, D IR E
2. Had B, C 4R D
3. %4d C, D HRE
4. $aA A, C AR D

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212316028 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are related to INIS?

A. Membership is open only to inter governmental organizations that deal with Nuclear
research

B. has its own International Nuclear Library Network
C. INIS is multi-lingual in nature

D. INIS was established in 1964

E. NUCLEUS is [AEA's information resource portal

Choose the correct answer from the options given below:

[. A, Band C only
2.B, Cand E only
3.C.D,and E only

4. A, D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212316028 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FafaRad # U B U ARTTMETY I Helfed &

A. Had TRAN Y XA a1l 3fd:-IRORI GI&1 b eIt Fewidl Geil g |
B. 3T 30 SRIPTI R THTed Hedd g

C. IMETAATETY T Upfd H ag- 4rfl g1

D. HEUFSUY B R 9Y 1964 H ga |

E. gy 305U b1 Y1 Wid Tled gl

T U U fdehett H ¥ el IR B 944 DI
1.9dd A, B3R C
2. A B, C 3R E
3.dd C,D, 3R E
4. HIAA. D AR E

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212316029 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are advantages of Mobile Library apps?

A. Storage and display

B. Quality assurance

C. Allow users to set preferences
D. Compatibility

E. Load contents faster

Choose the correct answer from the options given below:

1. A, B, Conly

(]

.B. C,D only

(]

.C.D.E only
4. A, D, E only

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212316029 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fafaigd 9 &Y Aldied Qdd g U & Y g°

A. HSRU 3R Y-

B. UG YA

C. SYTRTDHA! Bl 3T THE U e H- DI -4l
D.

E. 3{dded () HiUd dail I dls Al

A fau ¢ fadheti T 9 9l SR &1 9949 DIfST:
I.$hdd A, B.C

2. HddB.C.D
3.%dd C.D.E
4. %dd A.D.E

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212316030 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following relations are found in subject headings?

A. Subject relations

B. Equivalence relations
C. Hierarchical relations
D. Phase relations

E. Assoclative relations

Choose the correct answer from the options given below:

1.A, B, Conly

(]

.C,D, E only
3.B,C,.E only

4. B, C, D only

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212316030 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



9T 2iNe | Ut JH dlel Y9HUTHS Rl HIY g2

A. 9T Tdy
B. YA 9dY
C. s gee
D. I3 HdY
E. 9gldd Hd¢

A fau ¢ fadheti T 9 9l SR &1 9949 DIfST:
I.$hdd A, B.C

2. HAAC.D.E
3. HddAB.C.E
4. HAdB.C.D

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34212316031 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



MARC- 21 record communication format comprises of

A. Leader

B. Directory

C. Title

D. Data Context
E. Main Entry

Choose the correct answer from the options given below:

1. A, B and C only

(o

.A. B and D only
3. A, Cand D only
4. A, B and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34212316031 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



UL 21 Rb1S SRIFAHYA BRAC T AT B-

A. Tad (dl8)

B. ¢ [RrahT

C. 2D

D. Sl dhce

E. g Ufdfy (31 ¢

- fqu ¢ fadedl H I Hgl IR D1 98 Bifofu:
I.hdad A.B3RC
2. Hdd A, B3R D
3.HdAA. C 3R D
4. Had A B 3RE

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212316032 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are types of MIS in an organisation?

A. Executive support systems

B. Management support systems
C. Personnel support systems

D. Software support systems

E. Decision support systems

Choose the correct answer from the options given below:

1. A, BandE only

(o

. A, CandE only

5]

.B. C and D only
4. C,D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212316032 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fFafRad 7 oI U 4116 H THATSUH & ISR 82

A. PIOBHRI UgEdl oA
B. U4 YgIdl dA
C. HIHD eIl o=
D. e ddR Yl
E. (MUl ggradl d3

A fau ¢ fadheti T 9 9l SR &1 9949 DIfST:
I.%dd A.B3RE

2. HAd A, C 3R E
3. Had B, C 3R D
4. HadC.D3RE

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212316033 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are promotional methods of marketing?

A. Mailshots

B. Personal visits

C. Newsletters

D. Capacity Building
E. Rehabilitation

Choose the correct answer from the options given below:

1. B, C and D only

(o

.A. B and C only
3.A.Band D only
4. C,D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212316033 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frafafad H o119 Afh ¢ & UidiigTRe USidal g2

A. HeRlleq

B. AGaTTd G
C. ol deR

D. &I AT
E. T: 10T

A fau ¢ fadheti T 9 9l SR &1 9949 DIfST:
1.$hdd B, C 3R D

2. hadd A, B3R C
3. HAd A, B 3R D
4. HadC.D3RE

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34212316034 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are true of multimedia

A. There are six basic elements in multimedia

B. A mobile user may use multimedia through SMS

C. CAD/CAM can be used for designing engineering application
D. Photoshops can be used for network development

E. Common file types for audio include MP3 , WAV and WMA

Choose the correct answer from the options given below:

1. A, B and C only

(]

.C.D and E only

5]

.B. C and E only
4. A, C and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34212316034 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AeciHifean & T H Fffed # 1 oY W1 62

A TS H 88 U 9edh ¢

B. U% HIGISc SUNTdd| UHUATY o HIEW U W ISl &l ST 3R 9di ¢ |

¢ iuet  duew ol Zeifai o e feud &3 o forw Suai | o of wavar g
D. 1Ead fR & eI &l ST fopdl off Thell ¢

E. 3{ii3U1 & SIF BIgd o THR A UHT 3, SeU dl S 3R Seeguiu Uil €|

A g TC faed! # 9 Wel S Pl T P
1. Hdd A, B3R C
2. ®ddC, D ARE
3.%dd B, C 3N E
4. HaA, C IR E

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212316035 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The data security measures include:

A. Book marking

B. Antivirus protection
C. Data encryption

D. Firewall

E. Data diddling

Choose the correct answer from the options given below:

1. B, C and D only

(o

.A. B and C only
3. A, Cand D only
4. C,D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212316035 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ST QR4 & Iurl # Fafiad # ¥ 1 9 g 2

A. 9 T

B. UCTARIRY U=
C. 5l Ufh®H

D. BIARdAld

E. Scl fSafe

A fau ¢ fadheti T 9 9l SR &1 9949 DIfST:
1.$hdd B, C 3R D

2. Hdd A. B3R C
3. HAd A, C 3R D
4. Had C.DIRE

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212316036 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are metadata harvesting service providers

Udacity (http://www.udacitv.com)

Google scholar (http://scholar/google.com)

NCSTRL (http://www.ncstrl.org)

NPTEL (http://www.nptl.iitm.ac.in)

Search Digital Libraries (http://drtc.isibang.ac.in/sdc)

mYnwp

Choose the correct answer from the options given below:

1.A, CandE only

(o

.A. B and C only

5]

.B. C and E only
4. B, D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212316036 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frafaRad ® Sy Hers el gTdiEet Ha1 & Fardi g2

A. 3SR (htt p://www.udacity.com)

B. l'lc IR (http://scholar/google.com)

. m@?ﬁ&ﬂq Uc (http://www.ncstrl.org)

D. @W‘Eﬁ (http://www.nptl.iitm.ac.in)

E. 9d f3foted ?fﬁa_\ﬂ\_ﬂ (http://drtc.isibang.ac.in/sdc)

A fau ¢ fadheti T 9 9l SR &1 9949 DIfST:
I.5dd A, C IRE

2. hadd A, B3R C
3. HaddB.C 3IRE
4. HadB. D3R E

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212316037 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are true for Resource Description Framework (RDF)?

A. RDF is a standard model for data interchange on the web
B. XML syntax is allowed for RDF data model

C. RDF cannot merge data

D. RDF allows structured data only

E. RDF extends the linking structure of the web to use URI

Choose the correct answer from the options given below:
1. A, Band C only
2.B. C and D only
3.A.Cand D only
4. A, B and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212316037 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



R (3R H ThHdd (RSIUW) & ol (gl | U oY 9d g2

A. RSH 49 R Sl Sexdo & (U gHd Higd o

B. UFHUATA [¢ag dl ARG el Al & 3Hfd ¢ |

C. ARSI ST Bl [dqy g1 B Yobell 5|

D. HRSIUG dhdd Weles el bl 3l Sl g |

E. HRSIUG 3RS B IUGNT o {oiU dd Bl feifds 11 Ua Pl [k dcl g |

T QU T fawedl H ¥ WEl I &1 9 DI
|.$dd A, BHRC
2. BB, C AR D
3.haw A, CHRD
4, Had A, B IR E

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212316038 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The SPSS has three views namely

A. Help view

B. Data view

C. Output view
D. Variable view
E. Input view

Choose the correct answer from the options given below:

1. A, BandE only

(]

.B.D and E only

(]

.B. C and D only
4. A, B and C only

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212316038 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TqYTTqey & dF of FHufaiad § 9 &Y 82

A, WA o,
B. 3

C. SfigcYc o
D. IRTIT G
E.{T9c o

A fau ¢ fadheti T 9 9l SR &1 9949 DIfST:
I.Hdd A, B 3RE

2. HAd B, D 3R E
3. Had B, C 3R D
4. HaddA. B3R C

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212316039 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The sources of information for the case studv method includes

A. Confessions

B. Observations

C. Life histories

D. Opinion polling

E. Interview of individuals

Choose the correct answer from the options given below:

1.B,C,D and E only

(o

. A, C,Dand E only

5]

. A, B, Cand D only
4. A, B, C and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id
Correct Marks : 2 Wrong Marks : 0

: 34212316039 Question Type : MCQ Option Shuffling : No



Y AT UGTd & o Y1 & Fidli § FgfaRed o 9 1Y i g2

A, WIHRIET

B. 3l

C. Siig gidgrd

D. JAUFTA Uifei

E. Afaadl & TIETDHR

2 o e fadhed! & & 9L IR &1 95 PTG
|.%hdd B.C.D 3R E

2. HIA A, C.D 3IRE
3. HAA A, B, C 3R D
4. HIdA.B.C3IRE

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212316040 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are true in the context of Development Science Information System
(DEVSIS)

A. DEVSIS is related to the field of Science and Technology
B. Devindex is the principal published product of the DEVSIS
C. DEVSIS publishes periodic compendia under the title Devprofile

D. INFOPLAN, a Latin American Planning Information Network has founded some regional
DEVSIS centre.

E. DEVSIS is a global decentralised mission-oriented information system.
Choose the correct answer from the options given below:

I.A. B, Cand D only
2.B,C,Dand E only
3.A,C,Dand E only
4.A,B,Dand E only

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212316040 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SIHC W HIAL RReH (STdITHaRTH) & HeH o FHgfoRed o § oie 9 67

A. SITTH 3 T fogH SR el & 47 9 et 3|

B. 34 30509 SIS dICHSSTY &I TYH FaH1iId TG g

. SEAgETy 3a TiwEd e 9 Jefis gR-UE Tee gl

D. U i AN i1 SHIHRH Hedd SHIaH - §8 &g Si5died S ug digl
I fa i fopan

E. S3A10Y 3115 79 e afie fadhfed . 3 e womel g

Al G0 TG fadeat H ¥ Tel S &1 9 BIfoT:
. $d A, B, C 3D
2. %4t B, C, D R E
3. %4 A, C,D IRE
4. 53T A, B.D IRE

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34212316041 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are true in connection with the Agricultural Network Information Centre
(AgNIC)

A. AgNIC was started in 1973
B. National Agricultural Library of USA was involved as an alliance partner
C. AgNIC has been renamed as AGRINDEX

D. AgNIC has a web gateway providing immediate access to a cross-section of evaluated
agriculture resources

E. C B Pest database of occurrence and distribution of pesticides is available through AgNIC

Choose the correct answer from the options given below:
I.A.BandD only
2.B.Cand D only
3.A,Band Conly

4.B,D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34212316041 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



I Fedd el g (ToTas W) o ey H Fgfafed # 9 o Wl 62

A, TOllE 3181 ¥ 1973 H URY fopa 7|

B. JUHU &l M0 WlidhedR Ti3sn] Tgani! YIieR & o0 & i o

C. TlU 3T 4 &1 M URdlcld did Uoll R 3R Uy fobd]

D.W@Mﬁ%ﬁ@é&ﬁ?ﬁ%ﬁww@ﬁ@ﬁﬂﬁwww@
PHEETGIE

Eé@ﬂ@%ﬁ?ﬁ%mwﬂﬁﬁﬁ%ﬂﬁaﬂﬁw@ﬁaﬂ?ﬁw &1 YU Sery JUere

1 feU T faett H ¥ He) SR 1 T @I
1. A, B4R D
2. 90 B, C 4R D
3. a0 A, BARC
4. B, D AR E

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212316042 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



match the List-I with List-IL Match the following sections of RTI Act, 2015 with the description

LISTI LISTII
(Section (Description)

A |4 | I |Third Party Inspection

|11 | 1L | Protection of action taken in good fatth

B
C. 115 [IIL | Obligation of authority
D

21 [ IV, | Constitution of State Information Commussion

Choose the correct answer from the options given below:

I.A-L B-IL C-IIL D-IV
2. AL B-III, C-IV, D-1
3. AL B-L, C-IV, D-II
4. A-IV,B-III, C-IT, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212316042 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



&t 1 91y Gt 11 &1 e i
RIS SMUMTH 2005 B FafciRId RIS BT faaxur & 91y A &9

TR G181
YR fareor
4 | L |qdia v e
IL |9eHd ¥ U TTU &Y Bl G4

15| 1L | WigeR &l ared
21| IV, | IS YT S 1715+

i U U fad el H U g8t 3R &1 99 HIL:

1. AL BIL CIIL, D-IV

oleo|w|r

2. A-IL, B-1II, C-IV, D-1
3. A-III, B-1, C-1IV, D-II

4. A-IV, B-111, C-II, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212316043 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Library Association Years of establishment
A | Gujarat Pustakalavs Mandal I 1925
B. | Maharashtra Library Association 1L 1926
C. | Baroda State Library Association II1. 1921
D. | Bengal Library Asszociation IV 1923

Choose the correct answer from the options given below:
1. A-I, B-II, C-IV, D-III
2. A-IV, B-1II, C-II, D-I
3. A-IILL B-1, C-IV, D-II
4. A-III, B-IV. C-I1, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212316043 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

a1 T
TSI | RITTAT 31 7]
A | TSR adad Hed I |1925
B. | HERIF TxIded Iy II. |1926
C. | SSiar Uy YEadred ¥y | 11 | 1921
D. | & Giidiad 99 V. [ 1923
i feu U [9h el @ 9 gt SR &1 98- BT

1. A-I, B-II, C-IV, D-III

[

. A-1V, B-1II, C-1I1, D-1

L]

. A-IIL B-1, C-1IV, D-1I

4. A-IIL, B-IV, C-11, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212316044 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II
Match the following use and user studies with their investigations.

LISTI LISTII
Information metrics and user studies I | Crawford
Information Needs and uses II. | MB Line

Organizational behavior and information seeking | III. | Carol Tenopir

=N RN NN i

The information vses and needs of social scientists | IV, | Auster Eithal

Choose the correct answer from the options given below:

1. A-IT, B-1, C-IV, D-III

[

. AIIL B-IV, C-I, D-II

5]

.A-1, B-I1, C-III, D-IV
4. A-III, B-1, C-IV, D-TI

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212316044 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tl 1 91 T 11 1 el difer
g feRad STaNT 3R ST STl Bl Fich SFHeh o & 1Y fire Y

T T
A |G HCE SR SUETHd| ST M ES
B. | G aRgadl 3R JUan I (T & T
C. | TTETE TR R G AT IIL. | BRI IR
D. | T SUIT AR YA faRi-al & e | IV, | ey,

= T T fawedt H T gt S| &1 T0H i
1. A-IL B-I, C-IV, D-III
2. AL B-IV, C-L, D-II
3. A-I B-II, C-IIL D-IV
4. A-III, B-L. C-IV, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212316045 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
Sources Editors
A | MC Graw Hill Dictionary of Scientific and Technical Terms, 1984 | 1. | James Hastings
B. | ALA Glossary of Library and Information Science, 1983 11 | David R Sills
C. | Encyclopedia of Religion and Ethics 1908-27 III. | Cybil P Parker
D. | International Encyclopedia of Social Science, 1967 IV. | Heartstill Young

Choose the correct answer from the options given below:
1. A-IV, B-III, C-I1, D-1
2. A-IV, B-I, C-II, D-II
3. A-IIL B-1, C-IV, D-II
4. A-IIL B-IV, C-I, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212316045 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



&t 1 91y Gt 11 &1 e i
%ﬁh T

B fod fedal 3% UEfefhe 03 ¢fdda o 1984 | 1 | 5
| vue T T drgedl U8 THIHTH WEd, 1983 1. | 3fes am frew
| TR EdiTE S ReieH U8 T (1908-27) 111 | SEfee df uee
I TIAEGAN ST 316 TIEd YR, 1967 IV | gefeq g

i U U fas el H U 9t 3R &1 994 BT

1. A-IV, B-III, C-IIL, D-I

ololw[»

2. A-IV, B-1, C-III, D-TI
3. A-IIL, B-1, C-IV, D-II

4. A-IIL B-IV, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212316046 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
E-Resource Tyvpes
A | Samarth I. | Subject gateway
B. |LIS-FORUM | II. | Web portal
C. | Intute II1. | Bulletin Board
D.|CBES IV | Discussion group

Choose the correct answer from the options given below:
1. A-II, B-IV, C-1, D-III
2. A-II, B-1, C-1I, D-IV
3. A-II, B-IV, C-III, D-I
4. A-IV. B-11I, C-1. D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212316046 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IT, B-IV, C-1, D-IIT

[

. A-IIL B-1, C-IL D-1IV
3. A1l B-1V, CI1, D-I

4. A-IV, B-1II, C-I, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212316047 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II
In respect of PRECIS, match the following role operators with respective descriptions.

LISTI LISTII
Role operators Description
Als I | Bound co-ordinate concept
B |t II. | Two- way interaction
e III. | Role definer
D |u IV. | Author- attributed action

Choose the correct answer from the options given below:
1. A-I B-II, C-IV, D-II
2. A-IIL, B-IV, C-I, D-IT
3. AL B-IIL C-I, D-IV

4. A-IV, B-I, C-II1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212316047 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A feu U fadhedl # O gt 3R B 98- DIIU:

1. A-I, B-1I, C-IV, D-III

I3

. AL B-IV, C-I, D-II
3. A-IL, B-IIL, C-I, D-IV
4. A-IV, B-1, CIIL, D-TI

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212316048 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Features of Information Information service
X Inter disciplinary nature of I Indexing classification and storage svstems, reference
" | information scatter " | service
B. | Multiplicity of Languages I | Information and data analvsis and evaluation

C Wide variation in quality and 11| Translation service

" | reliability
D Cumulation of information iito Iv Indexing techniques to mterlink subjects, Information
" | vast quantities " | analysis and enquiry service

Choose the ecorrect answer from the options given below:
I. AL B-II, C-IIL D-IV
2. A-IL B-IIT, C-IV, D-I
3. A-IIL B-IV, C-1, DI
4. A-IV. B-IIL C-II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212316048 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. AL, B-II, C-III, D-IV
2. A-IL B-IL, C-IV, D-I
3. AL B-1V, C-I, D-II

4. A-IV, B-IL, C-II, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212316049 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
Modes of Formation of Subjects Description
A | Dissection [ | Construction by overlaying fact on facet
B. | Lamination II. | Connecting together two or more isolate ideas of same category
C. | Denudation IIL. | Cutting a universe of entities into parts of co-ordinate status
D. | Super imposition IV | Progressive decrease of the extension and mncrease of the intension

Choose the correct answer from the options given below:
[. A-IIL B-L, C-IV, DI
2. A-L B-IL C-IIL D-IV
3. A-IL B-IIL, C-I, D-IV

4. A-IV, B-1, C-IIL, D-TI

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212316049 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. A-IIL B-1, C-IV, D-II
2. A-L B-II, C-II1, D-IV
3.A-IL B-IIIL C-I, D-IV
4. A-IV, B-[, C-III, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212316050 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
Concept/Method Explanation
TOM Tools 1 | Book repair and binding, Digitalization lab, Cafeteria

Far end of the library | II. | Direct-purchase of periodicals

The Agency method |III | Newark charging svstem

Ul0|w|*

John Cotton Dane IV. | Pareto Analysis Charts

Choose the correct answer from the options given below:
1. A-IT, B-II, C-IV, D-1
2. AL, B-IV, C-IIL, D-IT
3. A-IV. B-I, C-II, D-TII
4. A-IL, B-1, C-III, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212316050 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. A-IL, B-IIL, C-IV, D-I
2. A1 B-IV, C-III, D-II
3.A-IV,B-I, C-I, D-III

4. A-IL, B-1, C-1II, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212316051 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Languages Examples
Logic Programming Language [. |Prolog

Front end programming Language | II. | C#

Back end programming Language | III. | C'S5S

Ulo|w| e

Scripting Programming Language | [V | Bash

Choose the correct answer from the options given below:
1. A-1, B-1V, C-III, D-TI
2. A-1, B-III, C-1I, D-IV
3. A-II, B-IV, C-III, D-I
4. A-IIL, B-1, C-II, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212316051 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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.A-L, B-III, C-IL, D-1IV
3. A1l B-1V, CI1, D-I

4. A-1I1, B-1, C-11, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212316052 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Technology Function
Barcode 1s implemented through a federation of registration agencies to uniquely
A | it ;
Technology identify an object.
B. |RFID 1L | includes tolerance of mis-onentation and obscuration
o 15 allowing users to read information on the screen but not capture it by
C. | Flickering IIL. e P by
screen dumping
D.|DOI IV | 13 used for identification, location and tracking of 1tems

Choose the correct answer from the options given below:
1. A-IV, B-II, C-IIL, D-I
2. A-IL, B-III, C-IV, D-1I
3.A-LB-IV,C-II,D-II
4. A-IV,B-II, C-L, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212316052 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IV, B-II, C-III, D-I

2. A-IL, B-III, C-IV, D-I
3.A-LB-IV,CII, D-II
4. A-IV, B-II, C-I, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212316053 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII

Metrics Term coined by

Bibliometrics | I. | Vassiy and Mulchenko

H-index II. | Almind and Ingwersen

Webometrics | III. | Pratchard

Ulo|w| e

Scientometrics | IV | JE Hirsh

Choose the correct answer from the options given below:
1. A-I, B-II, C-IV, D-III
2. A-IL. B-III, C-1, D-IV
3. A-IV. B-1, C-III, D-II
4. A-III, B-IV. C-I1, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212316053 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-I, B-II, C-IV, D-III
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[

- A-II, B-TII, C-1, D-IV
3. A-IV, B-1, C-1II, D-II

4. A-IIL, B-IV, C-11, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212316054 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
Citing indicators| Description
A | Thid. I [Refers to the reference listed earlier by the same author
B. [ Op.cit. II. | Refers to citation of sources with multiple authors
C. |Loc.cit. [II. | Refers to the same author and serve in the immediately preceding reference
D.|etal IV. | Refers to foot note term- used to repeat the title and page number for a given work

Choose the correct answer from the options given below:
1. A-I, B-IV, C-IIL, D-II
2.AIL B-L C-IV, D-II
3. A-IL B-IIL, C-I, D-IV
4. A-IV, B-II, C-II1, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212316054 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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[. A-1.B-IV, C-III, D-II

2. A-IIL B-1, C-IV, D-II
3.A-IL B-IIIL C-I, D-IV
4. A-1V, B-I1, C-III, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212316055 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Departments of Industries Purposes
X Small Industries Development I Recetving application for major assistance, examining
" | Organisaton (SIDO) " | technical feasibility and economic viability.
3 Small Industries Service Institute I Coordinating overall policy, planning and rendering
" | (8ISD) " | assistance and advisory services
National Small Industries Providing techno-economic services, management and
|4 g IIL. : g
Corporation (NSIC) technical training programs
7. | s B IV Infrastructure development and assistance in implementation
of programs

Choose the correct answer from the options given below:

1. A-L B-II, C-II1, D-IV
2. A-IIL B-IV, C-I, D-II
3. AL B-IIL, C-IV, D-I

4. A-IV, B-[, C-II, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212316055 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. AL, B-II, C-III, D-IV
2. A-IL B-1V, C-I, D-II
3. AL B-IIL, C-IV, D-I

4. A-IV, B-[, C-II, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212316056 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II
In case of corporate library, match the information Package Services with contents

LISTI
g LISTII
Information Package
: Contents
Services
Product Information : : :
A I. |1s a study of the salient features of products/processes of competitors
Brochure |
Comparative Product . . . .
B. Profile II. | Provides the salient features of the products relevant to the industries
c Patent Information " Brings to the notice of the engineers the latest inventions of products
" | Services " | formally
. | Provides exhaustive information on newly developed products of
D. | Product Focus TAL [ ; : i o pecp
interest to the industry/organisation

Choose the correct answer from the options given below:
[. A-IV. B-I, C-II1, D-II
2. AL B-IL C-I1, D-IV
3. A-IL B-I, C-IIL, D-IV
4. A-IIL, B-I1, C-IV, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212316056 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. ATV, BL, C-IIL, DI
2. AL B C-IIL, D-IV
3. AL B CIIL D-IV
4, ATIL BL C-IV, D1

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2

Sub-Section Id : 342123628
Question Shuffling Allowed : No

Question Id : 34212316057 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



Readability signifies easy comprehension of the text by a reader. There are three main aspects of
readability: legibility of the text, easy flow of reading and easy comprehension. Thus, readability
of a book is dependent on many factors, such as clarity of presentation in terms of language and
illustration as also the ability of a reader in terms of his’her intellectual level, language
proficiency and mental alertness. All authors may not have equal capability to produce ‘readable’
books. But they can certainly improve the readability of their books if they are able to know the
readability level of the manuscripts that they have produced. For this. several experts have
devised readability formulas to measure the readability of any text. Measurement of readability
refers to the process of assessing the extent of ease in reading and understanding a written text.

Most readability formulas are based on one semantic factor, Le.. the difficulty of words and one
syntactic factor, L., the difficulty of sentences. These formulas assume that longer sentences are
harder sentences and longer words are harder words. Each readability formula measures text
differently, but each formula typically assesses text only at the level of individual words and
sentences, in a purely mechanical way. They measure certain attributes of words and sentences in
isolation, ignoring other important attributes at the sentence level, including how writer has
connected sentences into paragraphs. By applying scientific and mathematical principles, the
readability principles aim to present an objective analysis about the readability of a particular
text. Some of the commonly vsed readability formulas are: Dale-Challa readability formula
(1948), PSK Readability Formula (1958), Gunning’s FOG index (1964), FK Grade Level
Formula (1975), and McAlpine EFLAW formula (2006). Word processor’s tool analyzes the text
supplied by a user and calculates the number of characters in the sentences, words and syllables
and finds reading level and grade level of the text by applying any of the readability formulas
used by it. Readability formulas have many advantages, but these are being often criticized as
‘over-simplification and a critique of creative writing’. Indeed most great literary works may fail
to pass the readability tests, though they are of very high quality. These formulas are more
relevant for textbooks and subject books. While efforts should be made to have readability
formulas which can give more accurate results, the authors should also be more alert to take
prepublication readability tests of their creations so that we can have more readable books.

Sub questions

Question Number : 141 Question Id : 34212316058 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What indicator of difficulty is used as parameter in readability measurement formulas?

. Difficulties in mechanical way of phonetics

2. Difficulties in text printing with clarity

3. Number of repeated editors of the written text
4. Length of word and sentences in the written text

Options:



1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212316059 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is correct when readability formulas are arranged in reverse chronological
order of their formation

. Dale-Chall Readability formula, PSK Readability Formula, FK Grade Level Formula,
McApine EFLAN Formula,

2. McApine EFLAN Formula, PSK Readability Formula, FK Grade Level Formula, Dale-
Chall Readability Formulas

3. McApine EFLAN Formula, FK Grade Level Formula, PSK Readability Formula, Dale-
Chall Readability formula

4. McApine EFLAN Formula, Dale-Chall Readability formula, FK Grade Level Formula, PSK
Readability Formula,

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212316060 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not true in relation to the readability of written text?

L. Most literacy works of very high quality pass the readability test

2. One of the main aspects of readability is easy flow of reading

3. Readability formulas aim to present an analysis of a particular text scientifically.
4. Readability formulas are relevant for textbooks

Options:
1.1
2.2



3.3
4.4

Question Number : 144 Question Id : 34212316061 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What does the readability signify for a written text?

1. Readability of a written text signifies the style of printing
2. Readability signifies the ease in reading with which a reader can understand a written text

3. Readability signifies that all authors have equal capabilities to write or produce readable
books

4, Readability signifies transforming an illegible text to legible text

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34212316062 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What are the factors to be considered for the future success of readability to produce more
readable books?

1. Using mathematical calculations more and more mechanically towards bringing over-
simplification in readability formulas

2. Making authors more alert to take pre-publication readability tests for their creations and
improving accordingly

3. Publishing the criticism of the textbooks

4. Reading rapidly more and more books

Options :
1.1
2.2
3.3
4.4



Question Id : 34212316057 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 34212316058 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212316059 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:
1.1
2.2
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Question Number : 143 Question Id : 34212316060 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
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Question Number : 144 Question Id : 34212316061 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2.2
3.3
4.4

Question Number : 145 Question Id : 34212316062 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 342123629
Question Shuffling Allowed : No

Question Id : 34212316063 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension



Before the printing press, books were incredibly scare and precious. No technique of mass
production being available, each book had be carefully copied by hand that took thousands of
skilled man-hours in transcribing texts, handcrafting ornate covers, and illuminating colorful
pages. Thus, in publicly accessible libraries, books were often shelved with chains for
safeguarding the library’s valuable collection from potential thieves while allowing the public to
read simultaneously. The chains were fitted to the corner or cover of the books through ringlets,
and were long enough to allow the books to be taken from their shelves and read. The books were
typically shelved with their fore-edges facing the reader, rather than their spines. It was a wrong
way of shelving as it made finding the right book more challenging. But it did allow the books to
be lifted and opened without needing to be turned around. But with the introduction of the
printing press, when duplicates became more readily available and significantly affordable, the
practice of chaining books to shelve died out.

In England, the Francis Trigge Chained Library, established in Grantham in 1598, is claimed to
be the first English public library in Wimborne Minister is the second largest chained library
founded in 1686 with the donation from Rev. William Stone. Worldwide, only a few chained
libraries have survived with their original furniture, chains and books. This includes the library
built in the Church of Siant Walpurga in 1564, located in the small town of Zutphen in the
Netherlands. The library is now the part of a museum that allows visitors to tour and view the
library’s original books, furmiture and chains. Another chained Llibrary, the Biblioteca
Malatestiana library in Cesena, Italy, founded in 1454 is significant for being first civil library in
Europe open to the general public. In Ireland, Marsh’s Library in Dublin, built in 1701, is a non-
institutional library, which is still housed in its original building. Interestingly, here it was not the
books that were chained, but rather the readers were locked into cages to prevent rare volumes
from ‘wandering’. The oldest chain book written in the eighth century, found in the Mappa
Mundiand Chained Library Museum located in Hereford, England, is the Hereford Gospels.
However, the largest surviving example of a chained library 1s Hereford Cathedral Library in UK
established in 1611 1s now open to the public as a tourist attraction of museum with its chains and
books intact.

Sub questions

Question Number : 146 Question Id : 34212316064 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following library is the oldest chained book of the eighth century is available?

I. Mappa Mundiand Chained Library Museum, Hereford
2. Hereford Cathedral Library, UK

3. Chruch of Saint Walpurga Library, Zutphen

4. Francis Trigge Chained Library Grantham

Options :



1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212316065 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is correct when chained libraries are arranged according to the reverse
chronological order of their foundations

I. Mash's Library, Hereford Cathedral Library, Church of Saint Walpurga Library, Francis
Trigga Chained Library, Biblioteca Malatestiana Chained Library.

2. Biblioteca Malatestiana Chained Library, Church of Saint Walpurga Library, Francis Trigga
Chained Library, Hereford Cathedral Library,Mash's Library.

3. Mash's Library, Hereford Cathedral Library, Francis Trigga Chained Library, Church of
Saint Walpurga Library, Biblioteca Malatestiana Chained Library

4. Biblioteca Malatestiana Chained Library, Church of Saint Walpurga Library, Hereford
Cathedral Library, Francis Trigga Chained Library, Mash's Library,

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212316066 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following Chained Library is considered as the first English Public Library

|. Mappa Mundiand Chained Library Museum, Hereford
2. Francis Trigge Chained Library, Grantham

3. Mash's Library, Dublin

4. Hereford Cathedral Library, UK

Options:
1.1
2.2



3.3
4.4

Question Number : 149 Question Id : 34212316067 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is the oldest chained library in Europe ?

1. Biblioteca Malatestiana. Casena

(i)

. Francis Trigge Chained Library, Grantham

(el

. Church Saint Zutphen Walpurga
4. Marsh's Library, Dublin

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212316068 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Books, in a chained library, are shelved with chains because

I. The owner of the library denied readers from reading books
2. The books are arranged with their spines facing the readers.

3. With the introduction of printing press, books cost were high due to beautifully printed or
hate covers

4, Readers were allowed reading valuable collection safeguarding from potential thieves

Options :
1.1
2.2
3.3
4.4

Question Id : 34212316063 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix



Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 34212316064 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212316065 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:
1.1
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Question Number : 148 Question Id : 34212316066 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34212316067 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 150 Question Id : 34212316068 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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